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1T B X 4 | % L8 atl Rt2 s I =

001/ 4 A WY 1,743 2,142 | 2,245 | 4,387 -2 -1 -6 -7
oM & — | 377 441 451 892 | | 4o, 1 -2 0 -2
o12# &~ — &l 189 261 281 542 | 0 0 0 0
021K zl 350 436 393 829 -2 -4 0 -4
031|/1 w121 149 159 308 -1 -1 -1 -2
032|% 1 — | 837 | 1,104 | 1,133 | 2,237 2539 -2 3 -1 2
o33|#  —  #l 1,006 | 1,319 | 1,376 | 2,695 | 3 1 11 12
034/l n Wl 355 461 477 938 | | 502 2 -1 0 -1
153|137 B EP ) 293 360 389 749 | -3 -3 -6 -9
041Kk mr 127 141 145 286 519 -1 -2 0 -2
152\ 2 T H(KHE)| 103 110 123 233 1 0 0 0
042 fif 135 156 172 328 0 0 0 0
051|fif BT 413 464 496 960 | 470 2 0 1 1
150 1 T B (P BT 225 257 253 510 | -1 -2 1 -1
053| 3 mr 215 259 257 516 599 5 7 6 13
151\ 1 T H (FHET) 29 41 35 76 0 0 0 0
054/ ik M 94 119 125 244 0 0 0 0
o61|% H — B 108 152 145 297 | | 044 0 1 0 1
o62/% H — | 330 370 377 747 7 0 -1 4 3
071|7% Al 101 113 111 224 1 -1 1 0
072| i Hl 121 113 114 227 0 0 0 0
073|%H = 70 90 76 166 0 0 0 0
o81|lLo22LA1T H| 263 355 373 728 -1 -2 0 -2
og2Lo/rLAH2T Al 283 369 350 719 0 -1 -1 -2
083|Lo5/22LA3T H| 249 338 322 660 3509 0 0 -3 -3
084/Lo22LH4T Al 261 341 335 676 | 0 -1 0 -1
085/Lo522LAS5T Al 298 374 352 726 1 4 1 5
086|L L/ LE6T H 0 0 0 0 0 0 0 0
10146 B 1 T A| 350 430 441 871 4 -1 2 1
1024k 2 T H| 348 425 451 876 | 2,652 -2 -3 0 -3
103|4k 3 T Hf| 329 452 453 905 -1 -1 1 0
112/% (b 2 T H 329 406 400 806 1 0 1 1
118|% 1 3 T H 442 553 578 | 1,131 | 2,973 0 0 -2 -2
114% (b 4 T H 401 494 542 | 1,036 1 -1 1 0
121)% # 5 1 T B 238 286 321 607 1 -1 -2 -3
1225 EH 27T H 343 431 457 888 | 2415 -1 -1 2 1
1235 £ H 371 H 344 458 462 920 0 0 -2 -2
1IB1IER A1 T H 287 428 447 875 -1 0 -1 -1
132 R H 21 H 255 374 399 773 3715 0 0 -1 -1
133 A A 31 H 320 453 501 954 | 7 -1 -1 -3 -4
1348 &+ 5 4 7 Al 409 534 579 | 1,113 -1 3 2 5
14158 D | 198 292 281 573 -1 0 1 1
1713 b 1 T Al 396 597 653 | 1,250 1 851 2 3 4 7
172/% |1 2 T H 182 315 286 601 | 1 2 2 4
g 13,867 | 17,763 | 18,316 | 36,079 5 -7 12 5




